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— ~ Multiple choice (20%)
1. The quality of information that gives assurance that it is reasonably free of error and
bias and is a faithful representation is :
{ A relevance.
(B) reliability.
(C) verifiability.
(D) neutrality.

2. Which of the following is not a selling expense?
(A) Office salaries expense.
(B) Advertising expense.
(C) Freight-out
(D) Store supplies consumed.

3. A company borrows $10,000 and signs a 90-day nontrade note payable. In preparing a
statement of cash flows (indirect method), this event would be reflected as a(n)
( A) addition adjustment to net income in the cash flows from operating activities
section.
(B) cash outflow from investing activities.
(C) cash inflow from investing activities.

(D) cash inflow from financing activities.

4. Before year-end adjusting entries, Bass Company's account balances at December 31,
2007, for accounts receivable and the related allowance for uncollectible accounts were
$600,000 and $45,000, respectively. An aging of accounts receivable indicated that
$62,500 of the December 31 receivables are expected to be uncollectible. The net
realizable value of accounts receivable after adjustment is :

(A) $582,500.
(B) $537,500.
(C) $492,500.
(D) $555,000.
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5. Which of the following depreciation methods does not consider salvage value in

computing the depreciable base of the asset?
(A) Straight-line.

(B) Sum-of-the-years'-digits.

( C) Declining-balance.

(D) Activity or production.

Use the following information for questions 6 and 7.

On January 1, 2008, Bleeker Co. issued eight-year bonds with a face value of]
$1,000,000 and a stated interest rate of 6%, payable semiannually on June 30 and

December 31. The bonds were sold to yield 8%. Table values are:

Present value of 1 for 8 periods at 6%6......ccocvevevcciviiiiiincieen
Present value of 1 for 8 periods at 8%........ e
Present value of 1 for 16 periods at 3%......ccocvveiiieericeciriniaeieenne
Present value of 1 for 16 periods at 4%....ccccceveevnvevireiiceniiireiens
Preseiit viliieof anmuityfor 8 periods at 6% 0ssmamnmmmmen
Present value of annuity for 8 periods at 8%o......ccooveviveeiiciririnene
Present value of annuity for 16 periods at 3%......ccocveeervveriiinennen
Present value of annuity for 16 periods at 4%.....cccoeeinivveciirennien.

6. The present value of the interest is
(A) $344,820.
(B) $349,560.
(C) $372,600.
(D) $376,830.

7. The issue price of the bonds is
(A) $883,560.
(B) $884,820.
(C) $889,560.
(D) $999,600.
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8. The deferred tax expense is the

( A) increase in balance of deferred tax asset minus the increase in balance of deferred
tax liability.

(B) increase in balance of deferred tax liability minus the increase in balance of
deferred tax asset.

(C) increase in balance of deferred tax asset plus the increase in balance of deferred
tax liability.

(D) decrease in balance of deferred tax asset minus the increase in balance of deferred

tax liability.

9. With respect to the computation of minimum lease payments by the lessee, how are the
following items handled in the computation?
Guaranteed Unguaranteed

Residual Value  Residual Value
(A  Included Excluded
(B) Included Included
(@ Excluded  Included
(D)  Excluded  Excluded

10. Which of the following reflects proper use of the term “reserve” in the preparation of

financial statements?
(A) The term used to describe amounts deducted from assets, such as "reserve for

depreciation."
(B ) The initial term used in connection with an estimated liability, such as "estimated

reserve for product warranty.” 7
(C) The term.used to describe the setting aside of funds for the subsequent payment of]

an existing liability, such as "reserve for bonds payable."
(D) The term used to describe an appropriation of retained earnings in the

stockholders' equity section of the balance sheet.
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